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- Note : Four possible choices A, B, C,D to each question are glven. Which choice is correct, fill that circle in front of that guestion
number. Use marker or pento fill the circles. Cutting or filling two or more circles will result in zero mark in that guestion.

jIdentify the Base Quantity : Z-':u}lf:; J ..alﬁ*d:_i_&i 1/:};)!:-*?

Distance J—-’!.r (D) Fnrce u}.;' [C} Area Lgi (B) Speed A (A} (1)

Whtch of the following is a Vector Quantity : : S /f; LS'._J;( & u" J’ Soukr  (2)

Power sl (D) Disp[acement L_.Md (C) Distance Jb (B) Speed i (A)

Acceleration /""Cl Velocity (fﬂi (C) Force u}:’ (B) Mass L (A)
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iStatea of Equilibrium are U U ;_/.‘.”b L,i/ #/U)gl - (3)
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Centripetal Force is Directly Proportional to : : = d!f N ) 893 32 ul&.\,!i: L;'J_j-’&v—‘d_rw-ﬂ (5)
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In Gases, heat is mainly transferred by R ¥ o7 s\ e /—'f’ (8)
Conduction 'ffif (B) Molecular Collision Wy ﬂzgl‘ (A)
Radlatmn uJ ld_&u (D) Convection u:'gr( (C)

iEarth‘E Gravitational Force vanishes at : r:—d‘-fﬂ'-.-fiﬁ JJJ’L}{ Liff J U (9)
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i Infinity ;ﬁb.ufﬂ (D} 10{}{] Km (C) 42300 Km (B) 6400 Km (A)

EAn example of Neutral Equilibrium is : ;.-:_dt'-'f' J ﬁ-‘/d:gfd.&: (10)
Block & (B) Football Jiet (A) '

Book on Table ......U;’/-‘ (D) Pencil at its tip {ﬁ@iﬁ (CQ)
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Latent Heat of Fusion is represented by : : = 4% U’I fibf ....f.elff i M,r (12)



